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Note : All questions are compulsory. All 

questions carry equal weightage. 

1. Answer the following question in about  

600 words : 

Discuss “Science as a process of Inquiry”” 

Elaborate its various steps with suitable 

examples. 
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Or 

Illustrate the use of cooperative learning 

approach in science classroom with suitable 

example and also discuss its advantages and 

disadvantages. 

2. Answer the following question in about  

600 words : 

Describe two learning activities for 

introducing the concept of ‘Location and Size 

of India’. 

Or 

Discuss basic process skills, which are to be 

acquired by a science learner and enlist 

assessment indicators for each skill, which 

will help you in assessment of learning. 
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3. Answer any four of the following questions 

in 150 words each : 

(a) Explain ‘carbon cycle’ 

(b) Explain laws for ‘conservation of 

nature’. 

(c) How will you demonstrate the 

characteristics of sound in your  

class ? 

(d) How will you explain chain  

formation by carbon atoms in organic 

compounds ? 

(e) Suggest an activity to introduce the 

concept of ‘Balanced Diet’. 

(f) Discuss the importance of laboratory in 

science teaching-learning. 



 [ 4 ] BES–141 

B–1096/BES–141 

4. Answer the following question in about  

600 words : 

What is unit planning ? Select a unit from 

secondary school level science. Develop a 

unit plan through concept mapping on the 

selected unit. 
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f'k{kk esa Lukrd (ch- ,M-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-,l-&141 % foKku f'k{k.k'kkL= 

le; % 3 ?k.Vs   vf/kdre Hkkfjrk % 70%  

uksV % lHkh iz'u vfuok;Z gSaA lHkh iz'uksa dh Hkkfjrk leku gSA 

1- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

ßtk¡p@vUos"k.k dh izfØ;k ds :i esa foKkuÞ (lkbal ,st 

, izkslsl vkWQ bUDok;jh) dh ifjppkZ dhft,A fofo/k 

dneksa dk mi;qDr mnkgj.kksa }kjk lfoLrkj izfriknu 

dhft,A 

vFkok 
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foKku d{kkd{k esa lg;ksxh vf/kxe mikxe ds iz;ksx dks 

mi;qDr mnkgj.kksa }kjk Li"V dhft, vkSj blds ykHk ,oa 

gkfu;ksa dh Hkh ifjppkZ dhft,A 

2- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

^Hkkjr dh fLFkfr vkSj vkdkj* dh vo/kkj.kk dk ifjp; 

djkus ds fy, nks vf/kxe fØ;kdykiksa dk o.kZu dhft,A 

vFkok 

,d foKku f'k{kkFkhZ }kjk izkIr fd, tkus okys vk/kkjHkwr 

izfØ;k dkS'kyksa dh ifjppkZ dhft, vkSj izR;sd dkS'ky ds 

fy, vkdyu lwpdksa dks lwphc¼ dhft, tks fd vf/kxe 

ds vkdyu esa vkidh lgk;rk djsaxsA 

3- fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj (izR;sd 

yxHkx 150 'kCnksa esa) nhft, % 

(d) ̂ dkcZu pØ* dh O;k[;k dhft,A 

([k) ̂ izÏfr ds laj{k.k* ds fy, fu;e dks le>kb,A 
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(x) viuh d{kk essa vki /ofu dh fof'k"Vrkvksa dk 

izn'kZu fdl izdkj djsaxs \ 

(?k) dkcZfud ;kSfxdksa (vkWxsZfud dEikm.M~l) esa dkcZu 

ijek.kqvksa }kjk Ükà[kyk fuekZ.k (psu QkWesZ'ku) dh 

O;k[;k vki fdl izdkj djsaxs \ 

(³) ^larqfyr vkgkj* dh vo/kkj.kk dk ifjp; djkus ds 

fy, ,d fØ;kdyki lq>kb,A 

(p) foKku f'k{k.k&vf/kxe esa iz;ksx'kkyk ds egRo dh 

ifjppkZ dhft,A 

4- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

bdkbZ ;kstuk D;k gS \ ek/;fed fo|ky; Lrj ds foKku 

ls ,d bdkbZ dk p;u dhft,A p;fur bdkbZ ij 

vo/kkj.kk ekufp=.k ds ek/;e ls ,d bdkbZ ;kstuk 

fodflr dhft,A 

× × × × × 

 

 


